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Interactive Questior

When the rocket engines of a ﬂm@ﬁ% are suddenly
turned off, while traveling in empty space far from any
stars or planets, the starship will

A) stop immediately

B) slowly slow down, msmﬁ 1en mSw_
C) go faster and faster

D) move with a constant velocity



- Interactive Questior

@,

A rocket ship in space has its engines firing and is

following path 1. At point 2, the engines shut off. Which
path does the rocket ship follow?




You are driving your car down a straight road ata
constant velocity of 65 mph. What can you conclude
about the forces acting on your om%

A) The forces actix g to make the car go b in the forward
direction must be greater than the forces acting to make
the car go in the backward direction “or the car SocE
not go forward.

B) The forces acting to r
direction must be equal to t
car go in the cmowéma m:. ctior

- C) There are no forces acting on the car at a constant
velocity o

.y

car go in the forward
forces moﬁwm to make the

D) There is not enough information to say anything.



HE@SQZ@ Qu Omﬂ on | , @

:w a single non-zero mﬂdw is a oEmoﬁ what kind

of Boﬁow 5, not m:o‘é@%

A) The oE ect ooia be m@@m&s« sw
B) The object coul .
C) The object coul
D) The object coul
mv None of the above. ,;




~ Interactive Question (B>
A box has two forces acting on it as shown by the arrows
which have the same length and point in opposite
directions. What can you say about the motion of this
box? |

A) It is definitely not Boﬁ_n .

B) It may be moving at a constant velocity or stationary
C) It may be accelerating _ | A

D) Not enough information is given



Interactive Qu mmcos

A box has two moaowm acting on it as sr own by the mﬁ.oém,

directions.
box?

A)
B)
C)
D)
E)

It 18 amms:@_% moving to th \ﬂr@
It may be moving at a constai
[t may be accelerating but? @\H nece mmm:_%

It 18 definitely not Boism. _

elocity or ﬁmﬁom,&a\

It is definitely accelerating



